

## Generalized Derivations of $BM$ -Algebras

Khoirunnisa Sugianti

Department of Mathematics  
Faculty of Mathematics and Sciences  
University of Riau, Pekanbaru 28293, Indonesia

Sri Gemawati

Department of Mathematics  
Faculty of Mathematics and Sciences  
University of Riau, Pekanbaru 28293, Indonesia

This article is distributed under the Creative Commons by-nc-nd Attribution License.  
Copyright © 2020 Hikari Ltd.

### Abstract

In this paper, the notion of left-right (respectively right-left) derivation of  $BM$ -algebra are introduced and some of related properties are investigated. Also, the notions of generalized left-right (respectively right-left) derivations of  $BM$ -algebra and  $B$ -algebra are introduced and some of their properties are investigated. Then, we obtain some different properties of generalized derivation of  $BM$ -algebra and  $B$ -algebra.

**Keywords:**  $BM$ -algebra,  $B$ -algebra,  $(l, r)$ -derivation,  $(r, l)$ -derivation, generalized derivation

### 1 Introduction

Negggers and Kim [10] introduce the notion of  $B$ -algebra, which is a non-empty set  $X$  with a constant  $0$  and a binary operation “ $*$ ” denoted by  $(X; *, 0)$ , satisfying the following axioms:  $(B1)$   $x * x = 0$ ,  $(B2)$   $x * 0 = x$ , and  $(B3)$   $(x * y) * z = x * (z * (0 * y))$  for all  $x, y, z \in X$ . Then, Kim and Kim [6] introduce the notion of  $BG$ -algebra which is the generalization of  $B$ -algebra satisfying the following axioms:  $(B1)$ ,  $(B2)$ , and  $(BG)$   $(x * y) * (0 * y) = x$  for all  $x, y \in X$ . Kim and Kim [7] also introduce  $BM$ -algebra, which is a specialization of  $B$ -algebra, satisfying the following axioms:  $(B2)$  and  $(A2)$   $(z * x) * (z * y) = y * x$

for all  $x, y, z \in X$ .

The first time, notion of derivation is discussed in ring and *near* ring. In the development of abstract algebra, the notion of derivation is also discussed in other algebraic structure. Kamaludin et al. [5] introduce the notion of derivations in *BG*-algebras. The results define a left-right or  $(l, r)$ -derivation, a right-left or  $(r, l)$ -derivation, a left derivation, and a regular in *BG*-algebra. Moreover, some of related properties are investigated. Aziz et al. [2] discuss the notion of  $(f, g)$ -derivation in *BG*-algebra, involving two endomorphisms  $f, g$  of *BG*-algebra, and the properties of  $f$ -derivation, and  $(f, g)$ -derivation in *BG*-algebra is obtained.

A new notion of derivation–generalized derivation–is introduced by some authors. Bawazeer et al. [3] introduce the generalized derivation in *BCC*-algebra defining the generalized  $(l, r)$ -derivation and generalized  $(r, l)$ -derivation in *BCC*-algebra, and some of related properties are investigated. Furthermore, the generalized of  $f$ -derivation where  $f$  is endomorphism is introduced by Jana et al. [4] in *KUS*-algebra and also Kim [8] in *BE*-algebra.

In this paper, the notion of  $(l, r)$ -derivation,  $(r, l)$ -derivation, and derivation in *BM*-algebra are introduced. Also, some of related properties are investigated. Then, we discuss the notion of the generalized  $(l, r)$ -derivation, generalized  $(r, l)$ -derivation, and generalized derivation in *BM*-algebra and some of their properties. The notion of the generalized  $(l, r)$ -derivation, generalized  $(r, l)$ -derivation, and generalized derivation in *B*-algebra are introduced and their properties are investigated. Finally, we obtain some different properties between the generalized derivations in *BM*-algebras and *B*-algebras.

## 2 Preliminaries

In this section, we recall the notion of *B*-algebra, *BM*-algebra, the generalized *BCC*-algebra, and review some properties that we need in the next section. Some definitions and theories related to the generalized of derivation in *BM*-algebra and *B*-algebra being discussed by several authors [1, 3, 7, 10] are also presented.

**Definition 2.1.** [10] A *B*-algebra is a non-empty set  $X$  with a constant  $0$  and a binary operation “ $*$ ” satisfying the following axioms: (B1)  $x * x = 0$ , (B2)  $x * 0 = x$ , (B3)  $(x * y) * z = x * (z * (0 * y))$  for all  $x, y, z \in X$ .

**Lemma 2.2.** [10] If  $(X; *, 0)$  is a *B*-algebra, then

- (i)  $0 * (0 * x) = x$ ,
- (ii)  $(x * y) * (0 * y) = x$ ,
- (iii)  $y * z = y * (0 * (0 * z))$ ,
- (iv)  $x * (y * z) = (x * (0 * z)) * y$ ,
- (v)  $x * z = y * z$  implies  $x = y$ ,
- (vi)  $x * y = 0$  implies  $x = y$  for all  $x, y, z \in X$ .

**Proof:** Lemma 2.2 has been proved in [10]. ■

For a  $B$ -algebra  $(X; *, 0)$ , we denote  $x \wedge y = y * (y * x)$  for all  $x, y \in X$ .

**Definition 2.3.** [1] Let  $(X; *, 0)$  be a  $B$ -algebra. By an  $(l, r)$ -derivation of  $X$ , a self-map  $d$  of  $X$  satisfying the identity  $d(x * y) = (d(x) * y) \wedge (x * d(y))$ , for all  $x, y \in X$ . If  $X$  satisfies the identity  $d(x * y) = (x * d(y)) \wedge (d(x) * y)$ , for all  $x, y \in X$ , then we say that  $d$  is a  $(r, l)$ -derivation. Moreover, if  $d$  is both an  $(l, r)$ -derivation and an  $(r, l)$ -derivation, we say that  $d$  is a derivation of  $X$ .

**Definition 2.4.** [1] Let  $(X; *, 0)$  be a  $B$ -algebra. A self-map  $d$  is said to be regular if  $d(0) = 0$ .

The notion of the generalized derivation in  $BCC$ -algebra is discussed by Bawazeer et al. [3].

**Definition 2.5.** [3] A  $BCC$ -algebra is a non-empty set  $X$  with a constant  $0$  and a binary operation “ $*$ ” satisfying the following axioms:

- (i)  $((x * y)(z * y)) * (x * z) = 0$ ,
- (ii)  $0 * x = 0$ ,
- (iii)  $x * 0 = x$ ,
- (iv)  $x * x = 0$ ,
- (v)  $x * y = 0$  and  $y * x = 0$  implies  $x = y$  for all  $x, y, z \in X$ .

**Definition 2.6.** [3] Let  $X$  be a  $BCC$ -algebra. A mapping  $D : X \rightarrow X$  is called a generalized  $(l, r)$ -derivation if there exists a  $(l, r)$ -derivation  $d : X \rightarrow X$  such that  $D(x * y) = (D(x) * y) \wedge (x * d(y))$  for all  $x, y \in X$ , if there exists a  $(r, l)$ -derivation  $d : X \rightarrow X$  such that  $D(x * y) = (x * D(y)) \wedge (d(x) * y)$  for all  $x, y \in X$ , the mapping  $D : X \rightarrow X$  is called a generalized  $(r, l)$ -derivation. Moreover, if  $D$  is both a generalized  $(l, r)$ -derivation and  $(r, l)$ -derivation, we say that  $D$  is a generalized derivation.

**Definition 2.7.** [7] A  $BM$ -algebra is a non-empty set  $X$  with a constant  $0$  and a binary operation “ $*$ ” satisfying the following axioms (A1)  $x * 0 = x$ , (A2)  $(z * x) * (z * y) = y * x$  for all  $x, y, z \in X$ .

**Example 2.4.** Let  $X = \{0, 1, 2\}$  be a set with Cayley’s table as seen in Table 2.2.

Table 2.2: Cayley’s table for  $(X; *, 0)$

*	0	1	2
0	0	2	1
1	1	0	2
2	2	1	0

Then,  $(X; *, 0)$  is a  $BM$ -algebra.

**Lemma 2.8.** [7] If  $(X; *, 0)$  is a  $BM$ -algebra, then

- (i)  $x * x = 0$ ,
- (ii)  $0 * (0 * x) = x$ ,
- (iii)  $0 * (x * y) = y * x$ ,
- (iv)  $(x * z) * (y * z) = x * y$ ,
- (v)  $x * y = 0$  if and only if  $y * x = 0$  for all  $x, y, z \in X$ .

**Proof:** Lemma 2.8 has been proved in [7]. ■

**Theorem 2.9.** [7] Every  $BM$ -algebra is a  $B$ -algebra.

**Proof:** Theorem 2.9 has been proved in [7]. ■

The converse of Theorem 2.9 does not hold in general.

**Theorem 2.10.** [7] If  $(X; *, 0)$  is a  $BM$ -algebra, then  $(x * y) * z = (x * z) * y$ , for all  $x, y, z \in X$ .

**Proof:** Theorem 2.10 has been proved in [7]. ■

### 3 Derivations of $BM$ -Algebras

In this section, an  $(l, r)$ -derivation, an  $(r, l)$ -derivation, and a derivation in  $BM$ -algebra are defined by a way similar to the construction of derivation in  $B$ -algebra by Al-Shehrie [1]. Then, some of related properties of  $(l, r)$ -derivation,  $(r, l)$ -derivation, and derivation in  $BM$ -algebra are obtained.

Let  $(X; *, 0)$  be a  $BM$ -algebra, we denote  $x \wedge y = y * (y * x)$  for all  $x, y \in X$ .

**Definition 3.1.** Let  $(X; *, 0)$  be a  $BM$ -algebra. By an  $(l, r)$ -derivation of  $X$ , a self-map  $d$  of  $X$  satisfies the identity  $d(x * y) = (d(x) * y) \wedge (x * d(y))$ , for all  $x, y \in X$ . If  $X$  satisfies the identity  $d(x * y) = (x * d(y)) \wedge (d(x) * y)$ , for all  $x, y \in X$ , then we say that  $d$  is a  $(r, l)$ -derivation. Moreover, if  $d$  is both an  $(l, r)$ -derivation and an  $(r, l)$ -derivation, we say that  $d$  is a derivation of  $X$ .

**Example 3.1.** Let  $(\mathbb{Z}; -, 0)$  be a set of integers  $\mathbb{Z}$  with a subtraction operation and a constant 0. Then, it is easy to prove that  $\mathbb{Z}$  is a  $BM$ -algebra. Let  $d$  is a self-map of  $\mathbb{Z}$  by  $d(x) = x - 2$  for all  $x, y \in \mathbb{Z}$ . Then,  $d$  is an  $(l, r)$ -derivation in  $\mathbb{Z}$ . Since,  $(3 - (1 - 2)) \wedge (3 - 2 - 1) = 4 \neq 0 = d(3 - 1)$ . This shows that  $d$  is not an  $(r, l)$ -derivation in  $\mathbb{Z}$ .

**Example 3.2.** Let  $X = \{0, 1, 2, 3\}$  be a set with Cayley's table as shown in Table 3.1.

Table 3.1: Cayley's table for  $(X; *, 0)$

*	0	1	2	3
0	0	3	2	1
1	1	0	3	2
2	2	1	0	3
3	3	2	1	0

Then, it is easy to show that  $X$  is a *BM*-algebra. Define a map  $d : X \rightarrow X$  by

$$d(x) = \begin{cases} 2 & \text{if } x = 0, \\ 3 & \text{if } x = 1, \\ 0 & \text{if } x = 2, \\ 1 & \text{if } x = 3. \end{cases}$$

It can be shown that  $d$  is an  $(l, r)$ -derivation and an  $(r, l)$ -derivation of  $X$ , we say that  $d$  is a derivation of  $X$ .

**Definition 3.2.** Let  $(X; *, 0)$  be a *BM*-algebra. A self-map  $d$  is said to be regular if  $d(0) = 0$ .

**Theorem 3.3.** Let  $(X; *, 0)$  be a *BM*-algebra and  $d$  be an  $(l, r)$ -derivation in  $X$ , then

- (i)  $d(x * y) = d(x) * y$  for all  $x, y \in X$ ,
- (ii)  $d(0) = d(x) * x$  for all  $x \in X$ ,
- (iii)  $d(x * d(x)) = 0$  for all  $x \in X$ ,
- (iv) If  $d$  is a regular, then  $d$  is an identity function.

**Proof:** Let  $(X; *, 0)$  be a *BM*-algebra and  $d$  be an  $(l, r)$ -derivation in  $X$ .

- (i) Since  $d$  is an  $(l, r)$ -derivation in  $X$ , then
 
$$\begin{aligned} d(x * y) &= (d(x) * y) \wedge (x * d(y)) \\ &= (x * d(y)) \wedge [(x * d(y)) * (d(x) * y)] \\ &= [(x * d(y)) * 0] \wedge [(x * d(y)) * (d(x) * y)] \quad [\text{by axiom A1}] \\ &= (d(x) * y) * 0 \quad [\text{by axiom A2}] \\ d(x * y) &= d(x) * y. \quad [\text{by axiom A1}] \end{aligned}$$
 Hence, this shows that  $d(x * y) = d(x) * y$  for all  $x, y \in X$ .
- (ii) By (i) It is obtained that  $d(x * y) = d(x) * y$ . By substitution  $y = x$  then  $d(x * x) = d(x) * x$ , and by Lemma 2.8 (i) we get  $d(0) = d(x) * x$  for all  $x \in X$ .
- (iii) By (i) we have  $d(x * d(x)) = d(x) * d(x) = 0$  for all  $x \in X$ .
- (iv) Since  $d$  is a regular, then  $d(0) = 0$ , and by (ii) it is obtained that  $d(0) = d(x) * x = 0$ .  
 Since every *BM*-algebra is a *B*-algebra, then  $X$  also satisfies Lemma 2.2 (vi), such that  $d(x) = x$ . ■

**Theorem 3.4.** Let  $(X; *, 0)$  be a *BM*-algebra and  $d$  be an  $(r, l)$ -derivation in  $X$ , then

- (i)  $d(x * y) = x * d(y)$  for all  $x, y \in X$ ,
- (ii)  $d(0) = x * d(x)$  for all  $x \in X$ ,
- (iii)  $d(d(x) * x) = 0$  for all  $x \in X$ ,
- (iv) If  $d$  is a regular, then  $d$  is an identity function.

**Proof:** Let  $(X; *, 0)$  be a *BM*-algebra and  $d$  be a  $(r, l)$ -derivation in  $X$ .

- (i) Since  $d$  is an  $(r, l)$ -derivation in  $X$ , then

$$\begin{aligned} d(x * y) &= (x * d(y)) \wedge (d(x) * y) \\ &= (d(x) * y) \wedge [(d(x) * y) * (x * d(y))] \\ &= [(d(x) * y) * 0] \wedge [(d(x) * y) * (x * d(y))] \quad [\text{by axiom A1}] \\ &= (x * d(y)) * 0 \quad [\text{by axiom A2}] \\ d(x * y) &= x * d(y). \quad [\text{by axiom A1}] \end{aligned}$$

Thus, we have  $d(x * y) = x * d(y)$  for all  $x, y \in X$ .

- (ii) By (i) it is obtained that  $d(x * y) = x * d(y)$ . Substituting  $y = x$  yields  $d(x * x) = x * d(x)$ , and by Lemma 2.8 (i) we get  $d(0) = x * d(x)$  for all  $x \in X$ .
- (iii) By (i) we have  $d(d(x) * x) = d(x) * d(x) = 0$  for all  $x \in X$ .
- (iv) Since  $d$  is a regular, then  $d(0) = 0$ , and by (ii) it is obtained that  $d(0) = x * d(x) = 0$ .

Since every *BM*-algebra is a *B*-algebra, then  $X$  also satisfies Lemma 2.2 (vi), such that  $d(x) = x$ . ■

**Theorem 3.5.** Let  $(X; *, 0)$  be a *BM*-algebra and  $d$  be a derivation in  $X$ .  $d$  is a regular if and only if  $d$  is an identity function.

**Proof:** Let  $d$  is an  $(l, r)$ -derivation in  $X$ , then by Theorem 3.3 (iv) it shows that  $d$  is an identity function. If  $d$  is a  $(r, l)$ -derivation in  $X$ , then by Theorem 3.4 (iv) it shows that  $d$  is an identity function. Conversely, if  $d$  is an identity function, then clearly  $d(0) = 0$ . Hence,  $d$  is a regular. ■

## 4 Generalization Derivation of *BM*-Algebras

In this section, a generalized  $(l, r)$ -derivation, a generalized  $(r, l)$ -derivation, and a generalized derivation in *BM*-algebra are defined by a way similar to the construction of the generalized derivation in *BCC*-algebra by Bawazeer et al. [3]. Then, also we obtain some related properties.

**Definition 4.1.** Let  $X$  be a *BM*-algebra. A mapping  $D : X \rightarrow X$  is called a generalized  $(l, r)$ -derivation if there exists a  $(l, r)$ -derivation  $d : X \rightarrow X$  such that  $D(x * y) = (D(x) * y) \wedge (x * d(y))$  for all  $x, y \in X$ , if there exists a  $(r, l)$ -derivation  $d : X \rightarrow X$  such that  $D(x * y) = (x * D(y)) \wedge (d(x) * y)$  for all  $x, y \in X$ , the mapping  $D : X \rightarrow X$  is called a generalized  $(r, l)$ -derivation. Moreover, if  $D$

is both a generalized  $(l, r)$ -derivation and  $(r, l)$ -derivation, we say that  $D$  is a generalized derivation.

**Example 4.1.** Let  $X = \{0, 1, 2, 3\}$  be a set with Cayley's table as shown in Table 4.1.

Table 4.1: Cayley's table for  $(X; *, 0)$

*	0	1	2	3
0	0	2	1	3
1	1	0	3	2
2	2	3	0	1
3	3	1	2	0

Then, it is easy to show that  $X$  is a *BM*-algebra. Define a map  $d : X \rightarrow X$  by  $d(x) = x$  and  $D : X \rightarrow X$  by

$$D(x) = \begin{cases} 3 & \text{if } x = 0, \\ 2 & \text{if } x = 1, \\ 1 & \text{if } x = 2, \\ 0 & \text{if } x = 3, \end{cases}$$

It can be shown that  $d$  is a derivation of  $X$  and  $D$  is a generalized derivation of  $X$ .

**Definition 4.2.** Let  $(X; *, 0)$  be a *BM*-algebra. A self-map  $D$  is said to be regular if  $D(0) = 0$ .

**Theorem 4.3.** Let  $(X; *, 0)$  be a *BM*-algebra and  $D$  be a generalized  $(l, r)$ -derivation in  $X$ , then

- (i)  $D(x * y) = D(x) * y$  for all  $x, y \in X$ ,
- (ii)  $D(0) = D(x) * x$  for all  $x \in X$ ,
- (iii)  $D(x * d(x)) = D(x) * d(x)$  for all  $x \in X$ ,
- (iv) If  $D$  is a regular, then  $D$  is an identity function.

**Proof:** Let  $(X; *, 0)$  be a *BM*-algebra and  $D$  be a generalized  $(l, r)$ -derivation in  $X$ .

- (i) Since  $D$  is a generalized  $(l, r)$ -derivation in  $X$ , then
 
$$\begin{aligned} D(x * y) &= (D(x) * y) \wedge (x * d(y)) \\ &= (x * d(y)) \wedge [(x * d(y)) * (D(x) * y)] \\ &= [(x * d(y)) * 0] \wedge [(x * d(y)) * (D(x) * y)] && \text{[by axiom A1]} \\ &= (D(x) * y) * 0 && \text{[by axiom A2]} \\ D(x * y) &= D(x) * y. && \text{[by axiom A1]} \end{aligned}$$
 Hence, it is obtained that  $D(x * y) = D(x) * y$  for all  $x, y \in X$ .
- (ii) By (i) we have  $D(x * y) = D(x) * y$ . Substitution of  $y = x$  gives  $D(x * x) = D(x) * x$ , and by Lemma 2.8 (i) we get  $D(0) = D(x) * x$  for all  $x \in X$ .
- (iii) By (i) it is obtained that  $D(x * d(x)) = D(x) * d(x)$  for all  $x \in X$ .

(iv) Since  $D$  is a regular, then  $D(0) = 0$ , and by (ii) we have  $D(0) = D(x) * x = 0$ .

Since every  $BM$ -algebra is a  $B$ -algebra, then  $X$  also satisfies Lemma 2.2 (vi), such that  $D(x) = x$ . ■

**Theorem 4.4.** Let  $(X; *, 0)$  be a  $BM$ -algebra and  $D$  be a generalized  $(r, l)$ -derivation in  $X$ , then

- (i)  $D(x * y) = x * D(y)$  for all  $x, y \in X$ ,
- (ii)  $D(0) = x * D(x)$  for all  $x \in X$ ,
- (iii)  $D(d(x) * x) = d(x) * D(x)$  for all  $x \in X$ ,
- (iv) If  $D$  is a regular, then  $D$  is an identity function.

**Proof:** Let  $(X; *, 0)$  be a  $BM$ -algebra and  $D$  be a generalized  $(r, l)$ -derivation in  $X$ .

(i) Since  $D$  is a generalized  $(r, l)$ -derivation in  $X$ , then

$$\begin{aligned} D(x * y) &= (x * D(y)) \wedge (d(x) * y) \\ &= (d(x) * y) \wedge [(d(x) * y) * (x * D(y))] \\ &= [(d(x) * y) * 0] \wedge [(d(x) * y) * (x * D(y))] \quad [\text{by axiom A1}] \\ &= (x * D(y)) * 0 \quad [\text{by axiom A2}] \\ D(x * y) &= x * D(y). \quad [\text{by axiom A1}] \end{aligned}$$

Hence, it is obtained that  $D(x * y) = x * D(y)$  for all  $x, y \in X$ .

- (ii) By (i) we have  $D(x * y) = x * D(y)$ . By substitution of  $y = x$  then  $D(x * x) = x * D(x)$ , and by Lemma 2.8 (i) we get  $D(0) = x * D(x)$  for all  $x \in X$ .
- (iii) By (i) we have  $D(d(x) * x) = d(x) * D(x)$  for all  $x \in X$ .
- (iv) Since  $D$  is a regular, then  $D(0) = 0$ , and by (ii) it is obtained that  $D(0) = x * D(x) = 0$ .

Since every  $BM$ -algebra is a  $B$ -algebra, then  $X$  also satisfies Lemma 2.2 (vi), such that  $D(x) = x$ . ■

**Theorem 4.5.** Let  $(X; *, 0)$  be a  $BM$ -algebra and  $D$  be a generalized derivation in  $X$ .  $D$  is a regular if and only if  $D$  is an identity function.

**Proof:** Let  $D$  be a generalized  $(l, r)$ -derivation in  $X$ , then by Theorem 4.3 (iv) it shows that  $D$  is an identity function. If  $D$  is a generalized  $(r, l)$ -derivation in  $X$ , then by Theorem 4.4 (iv) it shows that  $D$  is an identity function. Conversely, if  $D$  is an identity function, then clearly  $D(0) = 0$ . Hence,  $D$  is a regular. ■

## 5 Conclusion

In this paper, the notions of left-right or  $(l, r)$ -derivation, right-left or  $(r, l)$ -derivation, and derivation in  $BM$ -algebra are introduced and some related properties are investigated. We obtain a property being similar to the  $(l, r)$ -derivation and  $(r, l)$ -derivation, that is if  $d$  is a regular then  $d$  is an identity function, it is meant that every derivation, which is a regular in  $BM$ -algebra, is an



identity function. Furthermore, the notion of the generalized derivation in  $BM$ -algebra is equivalent to the generalized derivation in  $BCC$ -algebra, although there are some of their properties are different.

## References

- [1] N. O. Al-shehrie, *Derivation of B-algebras*, *Journal King Abdulaziz University: Science*, **22** (2010), 71-82. <https://doi.org/10.4197/sci.22-1.5>
- [2] W. Aziz, S. Gemawati, and L. Deswita, *On (f,g)-derivations in BG-algebras*, *International Organization of Scientific Research Journal of Mathematics*, **16** (2020), 14-20.
- [3] S. M. Bawazeer, N. O. Alshehri, and R. S. Babusail, *Generalized derivations of BCC-algebras*, *International Journal of Mathematics and Mathematical Sciences*, **2013** (2013), 1-5. <https://doi.org/10.1155/2013/451212>
- [4] C. Jana, T. Senapati, and M. Pal, *Derivation, f-derivation and generalized derivation of KUS-algebras*, *Cogent Mathematics*, **2** (2015), 1-12. <https://doi.org/10.1080/23311835.2015.1064602>
- [5] Kamaludin, S. Gemawati, and Kartini, *Derivations in BG-algebras*, *International Journal of Algebra*, **13** (2019), 249-257. <https://doi.org/10.12988/ija.2019.9620>
- [6] C. B. Kim and H. S. Kim, *On BG-algebras*, *Demonstratio Mathematica*, **41** (2008), 497-505. <https://doi.org/10.1515/dema-2013-0098>
- [7] C. B. Kim and H. S. Kim, *On BM-algebras*, *Scientiae Mathematicae Japonicae Online*, (2006), 215-221.
- [8] K. H. Kim, *On Generalized f-derivations of BE-algebras*, *International Mathematical Forum*, **9** (2014), 523-531. <https://doi.org/10.12988/imf.2014.4228>
- [9] H. S. Kim and H. G. Park, *On 0-commutative B-algebras*, *Scientiae Mathematicae Japonicae Online*, **18** (2005), 31-36.
- [10] J. Neggers and H. S. Kim, *On B-algebras*, *Matematicki Vesnik*, **54** (2002), 21-29.

**Received: October 15, 2020; Published: November 7, 2020**